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Subject: ILevel 1

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 6913521035
Option 11D : 6913524140
Option 2 ID : 6913524138
Option 3 1D : 6913524137
Option 4 ID : 6913524139
Status : Answered
Chosen Option : 2
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Question ID : 6913521024
Option 1 ID : 6913524094
Option 2 ID : 6913524095




Chosen Option :

Option 3 ID : 6913524096
Option 4 ID : 6913524093
Status : Answered
Chosen Option : 3
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Question ID : 6913521045
Option 11D : 6913524180
Option 2 ID : 6913524178
Option 3 ID : 6913524177
Option 4 ID : 6913524179
Status : Answered
Chosen Option : 2
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Ans ;
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< 2. Nm/kg
X 3. NkgZ/m?
X 4 sm2/kg?
Question ID : 6913521059
Option 11D : 6913524234
Option 2 ID : 6913524236
Option 3 ID : 6913524235
Option 4 ID : 6913524233
Status : Answered
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Question ID : 6913521082
Option 11D : 6913524328
Option 2 ID : 6913524327
Option 31D : 6913524326
Option 4 ID : 6913524325
Status : Answered
Chosen Option : 3
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Question ID : 6913521046
Option 11D : 6913524182
Option 21D : 6913524184
Option 31D : 6913524183
Option 41D : 6913524181
Status : Answered
Chosen Option : 1
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Chosen Option :

Question ID : 6913521054
Option 1 ID : 6913524215
Option 2 ID : 6913524214
Option 31D : 6913524216
Option 4 ID : 6913524213
Status : Answered
Chosen Option : 4
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Question ID : 6913521039
Option 11D : 6913524153
Option 2 ID : 6913524156
Option 31D : 6913524155
Option 4 ID : 6913524154
Status : Answered
Chosen Option : 2
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Question ID : 6913521097
Option 11D : 6913524387
Option 2 ID : 6913524385
Option 31D : 6913524388
Option 4 ID : 6913524386
Status : Not Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913521050
6913524197
6913524199
6913524198
6913524200
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913521003
6913524011
6913524012
6913524009
6913524010
Answered
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Question ID : 6913521014
Option 1 ID : 6913524054
Option 2 ID : 6913524055
Option 31D : 6913524053
Option 4 ID : 6913524056
Status : Answered
Chosen Option : 4
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Question ID : 6913521030
Option 11D : 6913524120
Option 2 ID : 6913524118
Option 31D : 6913524119
Option 4 ID : 6913524117
Status : Answered
Chosen Option: 1
041 The region of high density of particles in the medium during propagation of sound:
Ans X 1. Resonation
X 2 oscillation
K 3. Rarefraction
« 4 compression
Question ID : 6913521063
Option 1 ID : 6913524250
Option 2 ID : 6913524251
Option 3 ID : 6913524249
Option 4 ID : 6913524252
Status : Answered

Chosen Option: 1
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Question ID : 6913521016
Option 11D : 6913524061




Option 2 ID : 6913524064
Option 3 ID : 6913524062
Option 4 ID : 6913524063
Status : Answered
Chosen Option : 4
Q.1
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6913521070
Option 1 ID : 6913524277
Option 2 ID : 6913524278
Option 31D : 6913524280
Option 4 ID : 6913524279
Status : Answered
Chosen Option : 1
Q.1 .
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Ans  of 1. Q432
X 2 Q434
< 3 R432
X 4 R434
Question ID : 6913521038
Option 11D : 6913524150
Option 2 ID : 6913524149
Option 3 ID : 6913524151
Option 4 ID : 6913524152
Status : Answered
Chosen Option: 1
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Question ID : 6913521004
Option 11D : 6913524013




Option 2 ID : 6913524014
Option 31D : 6913524016
Option 4 ID : 6913524015
Status : Answered
Chosen Option : 2
Q§1 3. ¥ PE-I54H 1 Wa P faeeit B Yoo Oiftid T G A0 & AR Bl LRI BI?
ans X1.1208
X 21207
V'3 1206
< 41205
Question ID : 6913521096
Option 11D : 6913524384
Option 2 ID : 6913524381
Option 3 ID : 6913524382
Option 4 ID : 6913524383
Status : Answered
Chosen Option: 3
Q2 ABc TH TSIV T €, fomw S0 A IESI 21§ 39U ByS @1 W S & o fee
0 o1 & wHRHIT T 3 emewsdr 32
a1 AB
X2 CA
X2 &g Bl
v+ BC
Question ID : 6913521031
Option 1 ID : 6913524121
Option 2 ID : 6913524123
Option 3 ID : 6913524124
Option 4 ID : 6913524122
Status : Answered
Chosen Option : 4
Q1~2 8% TTUROT 1T 07T # a7 ¥ #1$ RN 3 9 3 7g # T 819 g e &l FqF R B o2
Ans X 1. Z 675
v 2 % 650
X3 2 700
X4 2276
Question ID : 6913521011
Option 11D : 6913524042
Option 2 ID : 6913524043
Option 3 ID : 6913524041
Option 4 ID : 6913524044
Status : Answered
Chosen Option : 2
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Question ID : 6913521017
Option 1 ID : 6913524065
Option 2 ID : 6913524068
Option 3 ID : 6913524067
Option 4 ID : 6913524066
Status : Answered
Chosen Option : 3
Qéz ofg UH HR 2000 J Fell BT ITGRT B & AR GBI IAET 500 J €, A BR B Gea gl
Ans X1 30%
v 2 25%
X 2 50%
X 4 40%
Question ID : 6913521057
Option 11D : 6913524228
Option 2 ID : 6913524226
Option 3 ID : 6913524225
Option 4 ID : 6913524227
Status : Answered
Chosen Option : 2
P e Me=72
4 — =-0.2 &g, &=
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v 4 0.75
Question ID : 6913521008
Option 1 1D : 6913524030
Option 2 ID : 6913524032
Option 3 ID : 6913524031
Option 4 ID : 6913524029
Status : Answered
Chosen Option : 4
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Question ID : 6913521026
Option 11D : 6913524102
Option 2 ID : 6913524104
Option 31D : 6913524101
Option 4 ID : 6913524103
Status : Answered
Chosen Option : 1

°62 Germ cells containing the stored food for embryo is called:
Ans 1. isogamete

/< 2. Male gamete

« 3. Female gamete

/< 4. Zoogamete

Question ID : 6913521080
Option 1 ID : 6913524319
Option 2 ID : 6913524318
Option 31D : 6913524317
Option 4 ID : 6913524320
Status : Answered
Chosen Option : 4
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Question ID : 6913521018
Option 11D : 6913524070
Option 2 ID : 6913524069
Option 3 1D : 6913524072
Option 4 ID : 6913524071

Status : Answered
Chosen Option: 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

6913521015
6913524060
6913524057
6913524059
6913524058
Not Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913521067
6913524265
6913524267
6913524266
6913524268
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913521079
6913524315
6913524313
6913524314
6913524316
Answered
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X 3 CO+OH

X 4 CO,+OH




Question ID : 6913521073
Option 11D : 6913524289
Option 2 ID : 6913524290
Option 3 ID : 6913524292
Option 4 ID : 6913524291
Status : Answered
Chosen Option : 4
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2 5 g B F an wfEkE e
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X4 faog U
Question ID : 6913521084
Option 11D : 6913524333
Option 2 1D : 6913524336
Option 31D : 6913524335
Option 4 1D : 6913524334
Status : Answered
Chosen Option : 3
Q.3 )
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Ans x
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Question ID : 6913521029
Option 11D : 6913524114
Option 2 ID : 6913524116
Option 31D : 6913524113
Option 4 ID : 6913524115
Status : Answered
Chosen Option: 2
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Question ID : 6913521090




Option 1 ID : 6913524357
Option 2 ID : 6913524360
Option 3 ID : 6913524359
Option 4 ID : 6913524358
Status : Answered
Chosen Option : 1
Q.3
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Question ID : 6913521069
Option 11D : 6913524275
Option 2 ID : 6913524274
Option 31D : 6913524276
Option 4 ID : 6913524273
Status : Answered
Chosen Option: 1
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Question ID : 6913521032
Option 11D : 6913524128
Option 2 ID : 6913524127
Option 31D : 6913524126
Option 4 ID : 6913524125
Status : Not Answered
Chosen Option : --
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Ans x
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v 4 éam 3yl
Question ID : 6913521095
Option 11D : 6913524377
Option 2 ID : 6913524379
Option 31D : 6913524380
Option 41D : 6913524378




Status : Answered
Chosen Option : 2
Q.3
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Question ID : 6913521072
Option 1 ID : 6913524287
Option 2 ID : 6913524288
Option 3 ID : 6913524285
Option 4 1D : 6913524286
Status : Not Answered
Chosen Option : --
Q.3
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X ﬁ’gﬁm
<2 forfagH
X o grESfm
Question ID : 6913521071
Option 1 ID : 6913524282
Option 2 ID : 6913524284
Option 3 ID : 6913524281
Option 4 ID : 6913524283
Status : Not Answered
Chosen Option : --
Qé4 TS HIs § MEAK &I 135111 foRam ol &, 341 &ls & OAK @I ¥ formar smam?
Ans X" 113111
X2 16111
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X4 17111
Question ID : 6913521053
Option 11D : 6913524211
Option 2 ID : 6913524210
Option 3 ID : 6913524209
Option 4 ID : 6913524212
Status : Answered
Chosen Option : 3
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Question ID : 6913521086
Option 1 ID : 6913524343
Option 2 ID : 6913524341
Option 3 ID : 6913524344
Option 4 ID : 6913524342
Status : Answered
Chosen Option : 1

% fRufas Sl =1

Question ID : 6913521061
Option 1 ID : 6913524241
Option 2 ID : 6913524242
Option 3 ID : 6913524244
Option 4 ID : 6913524243
Status : Answered
Chosen Option : 1
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Question ID : 6913521081
Option 1 ID : 6913524322
Option 2 ID : 6913524321
Option 31D : 6913524323
Option 4 ID : 6913524324
Status : Answered
Chosen Option: 1

Q.4




Which of the following statements is WRONG?

All chordates ;
Ans  of 1. are diploblastic

/< 2. are coelomate
/< 3. have a dorsal nerve cord
/< 4 have a notochord

Question ID : 6913521077
Option 11D : 6913524307
Option 2 ID : 6913524308
Option 3 ID : 6913524306
Option 4 ID : 6913524305
Status : Not Answered
Chosen Option : --
04 30+(20-15+3%x8)="?
Ans x 1.9
x<23
X3-3
vi-15
Question ID : 6913521001
Option 1 ID : 6913524001
Option 2 ID : 6913524004
Option 31D : 6913524002
Option 4 ID : 6913524003
Status : Answered
Chosen Option : 4
Q.4
¢ 25°C R gal # @f &1 7fq gt gl
Ans - X 1. 300 m/s
< 2 360 m/s
< 3 330 m/s
v 4 346 mls
Question ID : 6913521064
Option 11D : 6913524253
Option 2 ID : 6913524256
Option 31D : 6913524254
Option 4 ID : 6913524255
Status : Answered
Chosen Option : 3
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Question ID : 6913521078
Option 11D : 6913524310
Option 2 ID : 6913524309
Option 31D : 6913524312
Option 41D : 6913524311
Status : Answered
Chosen Option : 3
Q.4 2
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Question ID : 6913521089
Option 11D : 6913524355
Option 2 ID : 6913524353
Option 31D : 6913524356
Option 4 1D : 6913524354
Status : Not Answered
Chosen Option : --
°é4 In Mendeleevs’ periodic table, the horizontal rows are called:
Ans 1. Units
/< 2. Groups
X 3. Classes
W 4 Periods
Question ID : 6913521074
Option 11D : 6913524295
Option 2 ID : 6913524294
Option 3 ID : 6913524296
Option 4 ID : 6913524293
Status : Answered
Chosen Option : 4
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913521094
6913524376
6913524375
6913524374
6913524373
Not Answered
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Ans X 1. 5:7
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V'3 53
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Question ID : 6913521012
Option 1 ID : 6913524045
Option 2 ID : 6913524048
Option 31D : 6913524046
Option 4 ID : 6913524047
Status : Answered
Chosen Option : 3
Q.5 .
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Ans X 1. 22R
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Question ID : 6913521033
Option 11D : 6913524130
Option 2 ID : 6913524129
Option 31D : 6913524132
Option 41D : 6913524131
Status : Answered
Chosen Option : 2
Q.5 Which of the following is not based on the practical applications of heating effect of electricity?
3
Ans X 1. Electric kettle
X 2. Electric flat iron
« 3. Electric bell
/< 4 Electric toaster
Question ID : 6913521065




Option 1 ID : 6913524259
Option 2 ID : 6913524257
Option 3 ID : 6913524260
Option 4 ID : 6913524258
Status : Answered
Chosen Option : 3
Q5 45 cm & S A TF T F Fedah i F 1 em AT A T FE AT §| T TPL T IHoTHA
4 & o B-ﬁT &IheT T |
°* X 1.5J2 ecm: 18.25 cm?
X2 (5+4V2) cm; 18.25 cm?
V'3 (10+4v2) cm; 18.25 cm?
X 416 cm, 16 cm?
Question ID : 6913521020
Option 11D : 6913524078
Option 2 ID : 6913524079
Option 31D : 6913524080
Option 4 ID : 6913524077
Status : Answered
Chosen Option: 3
QS5 gl & UF W @, 10 FF TUS F §,15 Ul UG P §, 20 AT e T T 2 3 oA &
5 aﬁ?sﬂﬁ@raﬁ@tmsmzﬁwaﬂ%%\ arda ¥ fbad 9 hed TS & TUE @i 22
Ans | 40
2. 37
3. 25
4. 45
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6913521055
Option 11D : 6913524218
Option 2 ID : 6913524217
Option 3 1D : 6913524220
Option 4 ID : 6913524219
Status : Answered
Chosen Option: 1
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Question ID : 6913521091
Option 11D : 6913524361




Option 2 ID : 6913524363
Option 31D : 6913524362
Option 4 ID : 6913524364
Status : Answered
Chosen Option : 1
Q.5
7 Had ¥4 ¥ A & SR, Mus feg [y o giar g2
Ans «
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p Tfﬁ.}la?
Question ID : 6913521056
Option 11D : 6913524223
Option 2 ID : 6913524222
Option 3 ID : 6913524224
Option 4 1D : 6913524221
Status : Answered
Chosen Option : 1
°é5 i 2w W uy ok IUS 9T & A HYFT BT AT B
9 3 IUH AHR & 40l & Y TOR Sl ¢l 3 feeR $a fBa 9o 38T Uad €2
DY:
1. Ul AT B 27 1 feaad 8 ©
2. Ugdl R g1 Adl g ¢ wieid gl dial 8
DI I HUF UY BT IW o & 00 g g2
Ans
X HYT 1 3R 2 TH Iy gui el ©
X 2 3/hd HYF 2 TOE §
V5 3fhd HYF 1 1w §
Xegrqr sy 191 Y 2 T@@ ©
Question ID : 6913521040
Option 1 ID : 6913524157
Option 2 ID : 6913524159
Option 31D : 6913524158
Option 4 ID : 6913524160
Status : Answered
Chosen Option : 3

S 2 & S gmadt enrelt g@m @ enfe

2,14,98,__
ans X 1. 548
X 2 588




'3 686

Chosen Option :

X 4 666
Question ID : 6913521036
Option 11D : 6913524144
Option 2 ID : 6913524141
Option 3 1D : 6913524142
Option 4 ID : 6913524143
Status : Answered
Chosen Option: 3
Q.6 ; A faE[ ¥R &1 5 o & WERY H T 91 ¢l WeRY ¥ TP e ¥ aifed o ar oy &1 A
0 i
Ans X 1.10 C
X260 C
X3 2C
v 2120 C
Question ID : 6913521066
Option 11D : 6913524262
Option 2 ID : 6913524263
Option 31D : 6913524261
Option 4 ID : 6913524264
Status : Answered
Chosen Option: 1
01-6 A, 2017 B G I B HEIRG .09, 0T ¢ ITERT & ¥Ra 1 o ued o 42
Ane K112
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Question ID : 6913521085
Option 1 ID : 6913524338
Option 2 ID : 6913524340
Option 3 ID : 6913524337
Option 4 ID : 6913524339
Status : Not Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913521051
6913524203
6913524201
6913524202
6913524204
Answered
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Ans X1 7:12
v 2 6:7
<3 45
X4 2:3
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Question ID
Option 1 ID
Option 2 ID

16913521023
: 6913524092
1 6913524091
Option31D:
Option 41D :
Status :

Chosen Option :

6913524089
6913524090
Answered
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Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status :

6913521047
6913524188
6913524185
6913524186
6913524187
Answered




Chosen Option: 2
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Ans « 1. A
X2D
X 3B
X4 C
Question ID : 6913521044
Option 11D : 6913524173
Option 2 ID : 6913524175
Option 3 1D : 6913524174
Option 4 ID : 6913524176
Status : Answered
Chosen Option: 1
Qéﬁlkgaﬁuaaﬁﬁmmaﬁm* % I3 Ol ¢ o 9 GRT [ T Bt BT
(A WU g = 9.8 mis2 §)
Ans X198 J
W2 -98 J
X3 -98J
X498 J
Question ID : 6913521060
Option 11D : 6913524239
Option 2 ID : 6913524240
Option 31D : 6913524238
Option 4 ID : 6913524237
Status : Answered
Chosen Option : 1
Q.6 fgfifEd & ¥ o ARHNGE &1 U3.ef. 8 9 a¥ 2016 H URA SR & SR YRd & TUFER g
7 A& ¥ geeE @t e
Ans
X 1. Hidb JHIEt
X 2 SHYSHA AP
v s gl el
X 4+ {49 Iy
Question ID : 6913521083
Option 1 ID : 6913524331
Option 2 ID : 6913524332
Option 3 ID : 6913524329




Option 4 ID : 6913524330
Status : Answered
Chosen Option : 3

Qéﬁ The elements having similar chemical properties but different atomic masses are called:

Ans 1. jsomers
2. Halogens
3. Isotopes

4. Tsobars

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6913521075
Option 1 1D : 6913524297
Option 2 ID : 6913524300
Option 31D : 6913524299
Option 4 ID : 6913524298
Status : Answered
Chosen Option: 3

6 (143—-(9 -2+ 2+ BX (5 X1} = ?
Ans “1. 2

<2 -8
X3 -5
X417

Question ID : 6913521006
Option 11D : 6913524024
Option 2 ID : 6913524022
Option 3 ID : 6913524023
Option 4 ID : 6913524021
Status : Answered
Chosen Option : 1

U Ffifed 7 ¥ oF @ Ao el uy P ¥ Meeon JHHar aid 82
Uy 3Ipid:

A
fddhe GHW

A B C D

AR,

A
50

Ans ?(1~ B
X2 A




V3D
X2 C

Question ID : 6913521052
Option 1 ID : 6913524206
Option 2 ID : 6913524205
Option 3 ID : 6913524208
Option 4 ID : 6913524207
Status : Answered
Chosen Option: 3

U g v BT xR B+ WA A, T (5<7)+2 B AF T GAT?
Ans x1~ 70

< 2 65

V'3 37

X4 35

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6913521037
6913524145
6913524146
6913524147
6913524148
Answered

Chosen Option : 3

U7 HR il v fE 1 e # 2 F RIE R PN W aded IugE g

?
Y o1 I
+ *=- *+|n 0| A+
A B
+ 0 = |a
¥+ | *+ V- |+
C D
9] *+ + 0
- |+ V| =
Ans of 1. C
X2 A
X< 3B
X 4D
Question ID : 6913521043
Option 11D : 6913524169
Option 2 ID : 6913524170
Option 3 1D : 6913524171
Option 4 ID : 6913524172
Status : Answered




l Chosen Option :

1

Y Fofted ¥ 3 & O o/ ¥ i 82
A. BegISt
B. IS

c. I%
D. GFIRGHR

ae X'1.C
X2 A
X3B
v 4D
Question ID : 6913521042
Option 11D : 6913524167
Option 2 ID : 6913524165
Option 3 ID : 6913524166
Option 4 1D : 6913524168
Status : Answered
Chosen Option : 4
Q.7 7y R fidl W ¥ IR $ T Aot @ g9 vge od fmm & 500 Hier B g Fd § AR iR
4 i meaw 200 MR TR ¥ 9 O W I ¥ I R T B9 R A @i R
Ans
X . gd-giEm
X 2 FTR-ufEm
X 3 gféurutgs
v 4 gléurgd
Question ID : 6913521034
Option 11D : 6913524134
Option 2 ID : 6913524135
Option 3 ID : 6913524136
Option 4 ID : 6913524133
Status : Answered
Chosen Option : 4
057 % 1,600 Fr 7fEr o7 10 =t & foraar TmemRer == 9o @em? TfY =T @ 27 7.25% i &
ans o 1% 1160
X2 % 1180
X3 % 1220
X 4 T 1240
[ Question ID : 6913521009




Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913524035
6913524033
6913524034
6913524036
Answered

1

Ans “1. ﬁl.ﬁ:l:l.
X2 gl

X+ e
X« e

% WRRABRH H, Pifsr iR & RO A TR 2

Question ID : 6913521076

Option 11D : 6913524301
Option 2 ID : 6913524303
Option 3 1D : 6913524304
Option 4 ID : 6913524302
Status : Not Answered
Chosen Option : --
Q.7 ws ¢ SERIM a1 O I9Et S S 0 HES I8 H g Tl T &S F a9dl 31 g B e
7 78 af 31 T DR N 9 B Mg B A B af 22
Ans X 1. 69
X272
X3 63
v 66
Question ID : 6913521021
Option 11D : 6913524083
Option 2 ID : 6913524082
Option 3 ID : 6913524081
Option 4 ID : 6913524084
Status : Answered
Chosen Option : 1
L7 23,680 W 4% aIfie WYRY S B &R 2.5 A F B G A SN2
Ans X' 1.3 276
X2 392
v 3 7 368
X4 7184
Question ID : 6913521010
Option 1 1D : 6913524040
Option 2 ID : 6913524039
Option 31D : 6913524038
Option 4 ID : 6913524037
Status : Answered




l Chosen Option : 3
Q7 275+ [{63+ (—35+ —5)DPI—1+ (—6)}] = ?
Ans x 1. 8
V2 .5
X310
X4 -4
Question ID : 6913521007
Option 11D : 6913524025
Option 2 ID : 6913524027
Option 3 ID : 6913524028
Option 4 D : 6913524026
Status : Answered
Chosen Option : 2
068 If work has a positive value, the body on which work has been done would:
Ans X 1. Lose energy
# 2. Remain constant
/X 3. Have a zero value
« 4 Gain energy
Question ID : 6913521062
Option 11D : 6913524248
Option 2 ID : 6913524246
Option 3 ID : 6913524245
Option 4 D : 6913524247
Status : Answered
Chosen Option : 1
Q.8 15 axg 20 e # G T TH TSR T4 W 4.0 mis BT TAN T G 99 W8 TP GRI TR
1 o= @ o & fe forn T W =il
Ans of 110 ws
X25s
K3 5ms
X410 s
Question ID : 6913521058
Option 11D : 6913524232
Option 2 ID : 6913524229
Option 3 ID : 6913524230
Option 4 ID : 6913524231
Status : Answered
Chosen Option: 1

Qés ITEE Ww YRd B (SBM) & &8 199k & w4 4§ aldfigs & foa oifdaa & Fge fear mn
87

e X0 P




X2 i Xy
v 3 3ET HAR
K4 SAfFary S

Question ID : 6913521092
Option 11D : 6913524368
Option 2 ID : 6913524367
Option 3 ID : 6913524366
Option 4 ID : 6913524365
Status : Not Answered
Chosen Option : --
Qéswﬁ,@ﬁeﬂ?mﬂaammmﬁﬂﬁégaﬁw EEA RIS
Ans o 1. 1954
< 21950
X 31948
X 41947
Question ID : 6913521099
Option 11D : 6913524395
Option 2 ID : 6913524396
Option 3 ID : 6913524393
Option 4 ID : 6913524394
Status : Not Answered
Chosen Option : --
Q.8 fig & ¥ frur fweh wieen oMM (DCW) BT faaT 9 arel qREBR Afeal Tdiare [REBR-2017 W
4 9% IR T RoarTd HRFR SRiEd R Re ag of
e X ST IeTaeHT
X 2 I Dhaar!
p Tﬁfﬁ@ e
! 4. m ]:hﬁ
Question ID : 6913521088
Option 1 ID : 6913524349
Option 2 ID : 6913524351
Option 31D : 6913524352
Option 4 ID : 6913524350
Status : Not Answered
Chosen Option : --
Q.8




A =it 15 Rl & gae 2 & RF W BH 91 fadhed Iugdad e

Chosen Option :

RAR RRY | R4® |?
A B C D
RR4| RPR| RRP | RPR®
Ans x 1. D
v2C
X3 B
X4 A
Question ID : 6913521041
Option 11D : 6913524162
Option 2 ID : 6913524163
Option 3 ID : 6913524164
Option 4 ID : 6913524161
Status : Answered
Chosen Option : 2
Q.8 Sl & W& R U US! & A0 g @ § SFedal dal S & O gy 1950 | GRI
6 39 welwa @ oo & T M
Ans
X 1. TER gEHHTs gcd
X 2 RgX oy Meid
v 3 HUH. T
”
& 4 SdEIdd Hdge
Question ID : 6913521098
Option 11D : 6913524390
Option 2 ID : 6913524389
Option 3 ID : 6913524392
Option 4 ID : 6913524391
Status : Not Answered

X 2255
<3 26
v 25

Q.8 w5l &M @1 17 o ¥ I wHa1 €, Wl 85 59 51 57 9% Pal §1 Ws Ugd fad B
7 axar @, g oI T oM BRal @ AR B & THYG e 9P I8 9 S Edl 31 B F [T/ B
H e e & @i

Ans X 1. 245

Question ID : 6913521013
Option 1 ID : 6913524050




Option 2 ID : 6913524051
Option 3 ID : 6913524052
Option 4 ID : 6913524049
Status : Answered
Chosen Option : 4
Q.8 Four numbers, when arranged in ascending order, are w, x . y and z. The average of the smallest three numbers is
8  25.5 while the average of the largest three was 29.5. What is the range of the data?
Ans X110
v 212
X313
X411
Question ID : 6913521022
Option 11D : 6913524085
Option 2 ID : 6913524087
Option 3 1D : 6913524088
Option 4 ID : 6913524086
Status : Not Answered
Chosen Option : --
Q8 fag o ok Feel &1 erFyde fey SR Ik MR W T INY & B § Frepd Hom &
9 THUT FY F oW T
HYH:
woE B e 98 & 9 ¥ Ua S 2
feepf:
|. 7% U& HAFR gl
Il TOF B I9F &F B TeT I o
Ans
KA TN ST B
X 2 $ad ([spy || TR Hdl 8
v © Had 56N | SR SRl §
X 4 M TSPy SR Wld 3§
Question ID : 6913521027
Option 11D : 6913524108
Option 2 ID : 6913524106
Option 31D : 6913524105
Option 4 ID : 6913524107
Status : Answered
Chosen Option : 4

Q9 1% 435 m T TR U YA I To! gl & YRS Rufa I I F1 I397 H00 60° U1l 98 AR
I Ul 3 el Y ¥ 5 R Sedl ¢ 6 Ul sifaw [ufd ¥ TR &1 SFgd i 30° B I gl
a8 ofudl Uit Ruld 9§ o qr =ell 18 die

Ans x1?v,§ IﬁEQ_
X 2 29 Hiex




p G ?vﬁ HicT
v 4 2943 HicR

Question ID : 6913521025
Option 1 ID : 6913524099
Option 2 ID : 6913524097
Option 31D : 6913524100
Option 4 ID : 6913524098
Status : Answered
Chosen Option : 4
°1~9 T 2018 % FFAR #NA & HadAe A9 (G THE & 6 & FAFed H T g7
e XK. amriYes A
v 2 FA T FO1, FeaglFd U9 e S
X 3 FErERg e 9@ Feanr
= r %
X 4 THES U FaIF 99T FESAT F
Question ID : 6913521087
Option 11D : 6913524347
Option 2 ID : 6913524345
Option 3 1D : 6913524348
Option 4 ID : 6913524346
Status : Answered
Chosen Option: 3
Q9 TS 2018 T B TPR) b AR HRA KT b (SBI) P/ LM B 82
Ans .
1. aa‘[ W
2 %.dl. HEd
3. G‘ﬁa q%a
4. 3Bl HETY
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6913521100
Option 11D : 6913524399
Option 2 ID : 6913524398
Option 3 ID : 6913524397
Option 4 ID : 6913524400
Status : Answered
Chosen Option : 4

Qé9 The fraction from the ones listed below that will not lead to a recurring decimal is:

Ans 20
1. B
X




v: 2

Chosen Option :

56
. 15
XL
56
. 10
X
56
Question ID : 6913521002
Option 11D : 6913524008
Option 2 ID : 6913524007
Option 3 ID : 6913524006
Option 4 ID : 6913524005
Status : Answered
Chosen Option : 2
049 26 GFAY, 2018 & TUIGA a9 GARIE H fhaw ASEAN (SYUM) ¥ & =l 58 i 97
Ans of 110
X220
X3 11
X 48
Question ID : 6913521093
Option 1 ID : 6913524370
Option 2 ID : 6913524371
Option 3 ID : 6913524369
Option 4 ID : 6913524372
Status : Answered
Chosen Option : 1
Q.9 TR R T P g T & 9§ & AR g1 T 30 T TS IH] [GAE §HT U, A THR BT A H
S 4 T T F ARG B 5 T F WS Ul IAB! GG G BT AN e &2
Ans
v 132 9§
X2 130 9§
X3 134 9§
X4 135 9§
Question ID : 6913521019
Option 1 ID : 6913524075
Option 2 ID : 6913524076
Option 3 ID : 6913524074
Option 4 ID : 6913524073
Status : Answered

1

Q.9




A F wud 3R 3O 9g & T HeuRUTHT F Heama
FUA

‘g % el & Tg Tar wor & Fwe Gfyw wdSt & Few F gy 7 Few dvgaw S vt F dew
ol

FTEHO:

|. TR el F 3sET ETfeeR B

Il. e & = Fr #fRw 7 SARE Fr 3T F FROT FAGT B
ot & T Fiw @ aroT Fuw F TR @

S Fararom AT S RRa ¥
X 2 aer o | & [T #
X3 hae aron || & @fea &
X 4 gt & anone | sk 1 B ¥

Question ID : 6913521049
Option 1 ID : 6913524195
Option 2 ID : 6913524193
Option 31D : 6913524194
Option 4 ID : 6913524196
Status : Answered
Chosen Option : 1

VT Y e @S- Uy 22

ans 1. 719
X 2 739
v 3 729
X 4 709
Question ID : 6913521005
Option 11D : 6913524018
Option 2 ID : 6913524020
Option 31D : 6913524019
Option 4 ID : 6913524017
Status : Answered
Chosen Option : 3
Q.9 A solution contains 45 g of common salt in 520 g of water. Calculate the concentration in terms of mass by mass
8 percentage of the solution.
Ans X 1. 8.1%
X 2 6.96%
W 3. 7.96%
X 4 8.86%
Question ID : 6913521068
Option 1 ID : 6913524271
Option 2 ID : 6913524270
Option 3 ID : 6913524272
Option 4 ID : 6913524269
Status : Answered




Chosen Option: 3

9 R P B ok SUS I T Y Fef @1 e Sy
DYA:

e

. HoaIUl Bl Bl Bl Ht Mg 7 3rsT UeRH g foa
Il. Ue=i9 ¥ uefa fed §

o Baa ey 1| € SRERT HRaT ©

X3 gl Bl By | SR 1l gl SR &Rd ¢
X 4 Haq By | g IR0 Hdl §

T W 5 $HF 9 (5 THIT T I BT P WU Bl 82

WA 5 DIRG I gl “Hedul BT UeRiH 231 ¢ 3R 39 Uiwd ar mr g1~

K2 T d Fepy | SR AT € TSR 11 STER Rl ©

Question ID : 6913521048
Option 11D : 6913524190
Option 2 ID : 6913524192
Option 31D : 6913524191
Option 4 ID : 6913524189
Status : Answered
Chosen Option: 1

% T T 7T Ul R el @1 s @
HY:

« @i Tl goa gl

« Wi faafemf 3ic g
fseny:

1. 94! faafermt geilg

2. ot Fie faafe

SWId Fspyf ¥ U B Bl $ Y Tel 82
e e FreRd 1 T ¥ oET 6 3
X2 gHl € ey Sl & eEy 9l e 8
X = Ml ey HYl & ET el o




X 4 $ad 56y 2 HYFl & ATFY Tal ©

Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status :

Chosen Option :

6913521028
6913524111
6913524112
6913524110
6913524109
Answered

1




